e

4 3 - 1
DRAWING MADE IN THIRD ANGLE PROJECTION :
THIS DRAWING 15 UNPUBLISHED. RELEASED FOR PUBLICATION , 19 . Loc pIsT REYISIONS
© COPYRIGHT 149 BY AMP INCORFPORATED. ALL INTERNATIOWNAL RIGHTS RESERVED. Gp OO p E ZONE LTR DESCRIPTION DATE APPD

B | REV PER 0U1D-0274-00C 22 0cT o JE

|

|

|

|

|

|

|

| ]
|

|

|

|

|

|

|

| #4—-40 HEX NUT !
l ETD/ . :
| v
| ]
| 1
| [j #4 LOCK WASHER 1
| _
| ,
|

|

|

|

|

|

|

|

|

|

|

|

|

SLIDE LATCH = FLC

2 PLC i
| ﬁ:
Efﬁzzj////ﬁ#4 FLAT WASHER i

U

a0

#4-40 SLIDE LATCH SCREW
~2 PLC

A+ 015

4P 14715 FEV 387 \J/ | @ CUSTOMER DRAWING

|
|
|
|
|
|
|
|
|
|
|
|
| 1
| )
| D
9 \
| & |
| : B
|
| l | i
| \ 0 1
| - +H:fﬂ 480 MAX | <
| | 1l n
' - | ~
| | |
| | i
| v -
=
|
| - B
| |
: o 2.913 e 1
| REF i
|
| -
| -
|
| |
|
| i
| ] .
_ 7 _
: PARTS PACKAGED AS A UNIT KIT. SN i;LEiS 2 7454071
| PARTS INDIVIDUALLY BULK PACKAGED % SHIPPED A TYPE PACKAGING PART NO
| DO NOT SCALE PRINT. DR -
: Ao A UNTT PACRAGE. UNLESS SPECTIFIED B - : AMP  INCORPORATED
| THIS KIT CAN BE USED WITH CABLE CLAMP BODIES THAT DO ?éﬁggiéggg ISNINCHE5 CHE  — =t Harrisburg, Pa. 17105
' NOT EXTEND BEYOND THE FRONT FLANGE OF THE 2 PLC DEC + - B
' 3 PLC DEC + .005 APPD NAME
' CONNECTOR OR ON CONMNECTORS WITHOUT CABLE CLAMPS. ANGLES + - - ]
A MATER AL APPD - KIT, SLIDE LATCH, SIZE 4, | A
: SLIDE LATCH: STAINLESS : 37 POSITION, aMPLIMITE — ®
| STEEL PRODUCT SPEC
| HARDWARE: STEEL PER
| ASTM A108 - ]
| FINISH APPLICATION SPEC SI7E FSCM NO DRAWING NO
' HARDWARE: ZINC PLATED 1
: PER ASTM BB33, TYPE 11, - ] %Z 00/ /Y 745407
: EESSSA?EWP YELLOW WETGHT [°CALE 4. SHEET 1 OF 1
|
|



